o(8 ) (rad)

Ratio

hi

0.95!

1

2

3

TP n (PCA to beamline)

a(d cot(B))

H
<
o

1072

1073

Ratio

1.UD

0.95!

0 1 2 3
TP n (PCA to beamline)

—=— DQM_IT__ornginalREDO
——

DQM_TT__signal_option0
—— DQM_TT__signal_optionl
—— DOM_TT__signal_option2

aoa, ) (cm)

107k

1072

—l

0

1

2

3

TP n (PCA: to beamline)

a0 p,/p,)

1072k

107

Ratio

0.95

0

1

2

3

TP n (PCA- to beamline)

o(dd) (cm)

z

1074r

1072 Efa{ :

it

x| |11114{ |4

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


